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1 2 3 4 5

1 508448.70 2159375.15 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

2 508447.56 2159374.58 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

3 508446.98 2159374.68 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

4 508445.99 2159374.83 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

5 508436.52 2159376.17 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

6 508414.38 2159371.77 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

7 508385.32 2159360.63 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

8 508360.12 2159348.75 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

9 508323.20 2159332.53 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

10 508288.00 2159316.79 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

11 508252.87 2159304.04 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

12 508222.42 2159292.56 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -



2

13 508207.50 2159287.23 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

14 508187.77 2159281.21 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

15 508164.10 2159275.21 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

16 508140.86 2159274.50 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

17 508118.73 2159276.15 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

18 508091.02 2159281.05 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

19 508055.07 2159285.38 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

20 508026.40 2159289.41 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

21 508002.45 2159291.54 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

22 507987.85 2159294.71 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

23 507970.98 2159301.76 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

24 507968.20 2159332.84 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

25 507964.90 2159375.64 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

26 507964.03 2159394.91 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

27 507962.14 2159406.52 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

28 507958.61 2159427.96 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

29 507941.46 2159435.42 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

30 507910.76 2159431.04 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

31 507898.93 2159429.15 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

32 507865.18 2159421.62 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

33 507844.52 2159415.75 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

34 507831.17 2159411.38 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

35 507791.03 2159397.82 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

36 507752.18 2159385.44 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

37 507753.39 2159381.63 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

38 507792.27 2159394.02 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

39 507832.43 2159407.58 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

40 507845.68 2159411.93 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -
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41 507866.16 2159417.74 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

42 507899.69 2159425.21 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

43 507911.36 2159427.08 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

44 507940.90 2159431.30 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

45 507955.01 2159425.16 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

46 507958.20 2159405.88 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

47 507960.05 2159394.49 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

48 507960.90 2159375.40 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

49 507964.22 2159332.50 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

50 507967.22 2159299.00 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

51 507986.65 2159290.87 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

52 508001.85 2159287.58 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

53 508025.94 2159285.43 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

54 508054.55 2159281.42 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

55 508090.44 2159277.09 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

56 508116.22 2159272.53 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

57 508114.33 2159258.88 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

58 508118.30 2159258.33 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

59 508120.19 2159272.03 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

60 508140.78 2159270.50 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

61 508164.66 2159271.23 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

62 508188.85 2159277.35 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

63 508208.76 2159283.43 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

64 508223.80 2159288.80 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

65 508254.25 2159300.28 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

66 508289.50 2159313.07 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

67 508324.82 2159328.87 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

68 508361.78 2159345.11 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -
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69 508386.90 2159356.95 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

70 508415.50 2159367.91 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

71 508436.64 2159372.11 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

72 508445.41 2159370.87 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

73 508446.36 2159370.72 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

74 508447.97 2159370.46 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

75 508450.43 2159371.70 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

1 508448.70 2159375.15 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

76 508441.33 2159389.57 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

77 508439.15 2159388.46 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

78 508438.27 2159388.02 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

79 508437.27 2159387.53 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

80 508434.60 2159385.92 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

81 508413.51 2159378.28 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

82 508377.73 2159363.79 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

83 508377.49 2159364.32 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

84 508375.39 2159369.04 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

85 508371.74 2159367.41 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

86 508373.85 2159362.68 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

87 508374.01 2159362.33 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

88 508348.98 2159352.75 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

89 508319.52 2159340.43 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

90 508297.52 2159327.02 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

91 508271.19 2159316.17 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

92 508243.51 2159305.24 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

93 508217.47 2159296.26 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

94 508195.47 2159289.74 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

95 508179.34 2159285.82 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -
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96 508172.74 2159284.06 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

97 508160.35 2159282.32 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

98 508150.39 2159282.27 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

99 508137.38 2159281.91 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

100 508114.65 2159284.67 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

101 508106.50 2159286.51 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

102 508106.74 2159289.65 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

103 508106.98 2159292.63 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

104 508103.00 2159292.95 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

105 508102.76 2159289.97 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

106 508102.55 2159287.26 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

107 508083.75 2159290.32 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

108 508063.47 2159293.13 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

109 508050.21 2159295.79 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

110 508014.24 2159298.07 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

111 508000.82 2159299.37 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

112 507988.40 2159304.56 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

113 507982.57 2159309.62 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

114 507977.00 2159326.84 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

115 507976.84 2159349.88 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

116 507976.76 2159366.08 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

117 507977.02 2159399.43 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

118 507975.48 2159417.72 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

119 507958.90 2159442.44 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

120 507937.54 2159444.34 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

121 507900.80 2159436.14 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

122 507863.31 2159427.92 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

123 507825.61 2159418.38 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -
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124 507792.02 2159409.97 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

125 507759.13 2159396.79 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

126 507760.62 2159393.08 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

127 507793.26 2159406.15 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

128 507826.59 2159414.50 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

129 507864.23 2159424.02 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

130 507901.66 2159432.24 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

131 507937.80 2159440.30 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

132 507956.64 2159438.62 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

133 507971.58 2159416.36 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

134 507973.02 2159399.27 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

135 507972.76 2159366.08 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

136 507972.84 2159349.86 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

137 507973.00 2159326.20 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

138 507979.11 2159307.32 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

139 507986.26 2159301.12 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

140 507999.84 2159295.45 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

141 508013.92 2159294.09 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

142 508049.69 2159291.81 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

143 508062.81 2159289.19 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

144 508083.15 2159286.36 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

145 508103.99 2159282.98 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

146 508113.97 2159280.73 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

147 508137.20 2159277.91 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

148 508150.45 2159278.27 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

149 508160.65 2159278.32 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

150 508173.54 2159280.14 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

151 508180.32 2159281.94 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -
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152 508196.51 2159285.88 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

153 508218.69 2159292.44 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

154 508244.89 2159301.48 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

155 508272.69 2159312.47 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

156 508299.34 2159323.44 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

157 508321.34 2159336.85 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

158 508350.46 2159349.03 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

159 508377.44 2159359.36 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

160 508414.95 2159374.54 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

161 508436.32 2159382.30 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

162 508439.19 2159384.01 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

163 508440.05 2159384.44 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

164 508440.95 2159384.88 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

165 508443.15 2159386.01 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

76 508441.33 2159389.57 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

2. «�47>?D>6>4-66>4 > 6<?><G 4><G ?> 44D5EG: �<657>D>4E>4O >5?4EFL,
�46?>6E><= D4=>=, E. �>?LL>5 �46O4>6>, G?. �46>4E>4O, 4. 27� (�-5-
0294�/2022/��/��)», =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O,
?D>FO65==>EFL: 43 <, 44D5E: $>EE<=E>4O $545D4F<O, �<657>D>4E>4O >5?4EFL,
�46?>6E><= D4=>=, E. �>?LL>5 �46O4>6>, G?. �46>4E>4O, 4. 27� (>444EFD>6O=
=><5D 52:34:0800005:749)

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F <
ED54=OO >644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 488354.95 2160148.09 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

2 488360.31 2160157.96 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

3 488367.66 2160171.18 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

4 488370.32 2160175.64 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

5 488370.80 2160176.53 �5F>4 E?GF=<>>6OE 75>457<G5E><E -
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<7<5D5=<= (>?D545?5=<=), 0.10

6 488372.28 2160179.03 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

7 488368.21 2160181.23 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

8 488366.31 2160177.71 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

9 488366.75 2160177.47 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

10 488364.21 2160173.21 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

11 488356.80 2160159.87 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

12 488352.97 2160152.82 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

13 488352.01 2160153.10 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

14 488348.82 2160154.00 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

15 488347.74 2160150.14 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

16 488350.92 2160149.26 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

1 488354.95 2160148.09 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

3. «�47>?D>6>4 446?5=<5< 4> 0,005 ��4 >F F>G>< ?D<E>54<=5=<O >
D4E?D545?<F5?L=><G 747>?D>6>4G 4> >5N5>F4 ?> 44D5EG: �<657>D>4E>4O >5?.,
�46?>6E><= D4=>=, 7. �>DE<4, G?. �46>4E>4O 4. 1 (�-5-2127�/�-�)»,
=47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O, ?D>FO65==>EFL: 39 <, 44D5E:
$>EE<=E>4O $545D4F<O, �<657>D>4E>4O >5?., �46?>6E><= D-=, 7. �>DE<4, G?.
�46>4E>4O, 4. 1 (>444EFD>6O= =><5D 52:34:0600022:593)

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F <
ED54=OO >644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 492381.75 2170759.73 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

2 492389.21 2170776.53 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

3 492393.49 2170796.42 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

4 492389.58 2170797.26 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

5 492385.39 2170777.78 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

6 492378.10 2170761.35 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

1 492381.75 2170759.73 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -
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4. «%5FL 747>D4E?D545?5=<O =<7>>7> 446?5=<O > 6<?O< 4><4< ?> ?5D.
�E5=<=4, 7. �>D54F>6, �46?>6E>>7> <G=<F<?4?L=>7> >>DG74, �<657>D>4E>>=
>5?4EF< (152-21-102-002251)», =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O,
?D>FO65==>EFL: 126 <, 44D5E: $>EE<=E>4O $545D4F<O, �<657>D>4E>4O
>5?4EFL, �46?>6E><= D-=, �>D54F>6 7., ?5D. �E5=<=4 (>444EFD>6O= =><5D
52:34:0400001:1213)

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F <
ED54=OO >644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 509845.36 2156500.21 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

2 509844.87 2156496.24 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

3 509846.86 2156496.00 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

4 509847.01 2156495.98 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

5 509846.28 2156483.99 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

6 509840.52 2156466.55 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

7 509808.84 2156467.55 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

8 509808.83 2156472.86 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

9 509804.83 2156472.85 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

10 509804.84 2156467.68 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

11 509803.87 2156467.71 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

12 509803.75 2156463.72 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

13 509843.38 2156462.46 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

14 509850.24 2156483.23 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

15 509851.08 2156496.89 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

16 509851.24 2156499.49 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

1 509845.36 2156500.21 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

17 509716.64 2156478.19 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

18 509716.20 2156482.16 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

19 509715.32 2156482.06 �5F>4 E?GF=<>>6OE 75>457<G5E><E -
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<7<5D5=<= (>?D545?5=<=), 0.10

20 509715.31 2156483.57 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

21 509711.31 2156483.55 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

22 509711.32 2156481.62 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

23 509700.83 2156480.45 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

24 509676.56 2156479.84 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

25 509676.17 2156481.47 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

26 509677.28 2156481.51 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

27 509677.13 2156485.50 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

28 509671.00 2156485.28 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

29 509671.95 2156482.24 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

30 509673.35 2156475.76 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

31 509701.11 2156476.46 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

17 509716.64 2156478.19 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

5. «�>475<=O=, =4475<=O= 747>?D>6>4 446?5=<5< 4> 0,3 ��4 >F F>G><
?D<E>54<=5=<O > D4E?D545?<F5?L=><G 747>?D>6>4G 4> >5N5>F4 ?> 44D5EG:
�<657>D>4E>4O >5?4EFL, �46?>6E><= D4=>=, 7. �46?>6>, G?. ,<D>>4O, 4. 46�
(�-5-0065�-�)», =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O, ?D>FO65==>EFL:
89 <, 44D5E: $>EE<=E>4O $545D4F<O, �<657>D>4E>4O >5?4EFL, �46?>6E><= D-=,
7. �46?>6>, G?. ,<D>>4O, 4. 464 (>444EFD>6O= =><5D 52:33:0000021:828)

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F <
ED54=OO >644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 493414.20 2158884.30 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

2 493412.97 2158888.69 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

3 493409.20 2158899.67 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

4 493409.87 2158902.75 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

5 493410.45 2158904.87 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

6 493406.59 2158905.93 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -
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7 493405.98 2158903.72 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

8 493405.56 2158901.75 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

9 493405.06 2158899.44 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

10 493409.13 2158887.56 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

11 493410.22 2158883.65 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

12 493410.73 2158871.73 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

13 493407.32 2158859.84 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

14 493403.80 2158852.11 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

15 493395.02 2158834.98 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

16 493399.12 2158830.62 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

17 493398.81 2158824.56 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

18 493402.81 2158824.36 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

19 493403.20 2158832.12 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

20 493399.86 2158835.67 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

21 493407.42 2158850.41 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

22 493411.07 2158858.44 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

23 493414.75 2158871.26 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

1 493414.20 2158884.30 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

_______________
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